Homework # 15                                                                                                    SCI 1300 


Name:_____________________________                                     

Consider the following predator-prey model:

X(t+1) - X(t) = - 0.2 X(t) + 0.3 X(t) Y(t)

Y(t+1) - Y(t) =   0.1 Y(t) - 0.1 X(t) Y(t)

1. Which variable describes the prey population, X(t) or Y(t)? How can you tell?

2. Suppose the predator population becomes extinct. What will happen to the prey population over time?

3. Suppose the prey population becomes extinct. What will happen to the predator population over time?

4. An equilibrium point is a predator-prey combination that does not change over time. Clearly X = 0, Y = 0 is an equilibrium point in the model above. Find the other equilibrium point. 
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